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ooooboobobodbOweO000OD0OD0O0O0data0 000000 0OOOODOODOONDO
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Bun  Debug  Help
4 ?7- listing{rule).

rule(profit, 'Pi', 'Pi:=R-C', [revenus, cost]).
rulei{revenue, 'R'. 'E:=P=*Q', [price. guantity]).
rule{cost, 'C', 'C:=AC*Q', [awerageCost. gquantity]).

Yes
5 ?- li=sting(data).

dataiaverageCost, 'AC', 'AC:=2000-0+10', [gQuantity]). EEI
data({price. 'P'. 'P:=210-10%Q', [gquantity]).

data{guantity, quantity, 'Q=0Q', []).

Yes

6 ?7— zet{profit, Li=st).

List = ['Fi:=R-C', 'R:=P=Q', 'C:=ACQ', 'P:=210-10%*Q', 'AC:=2000-0+10"', 'Q=0Q"]

Yes

7 ?- =zet(revenue, K Listl)

Listl = ['R:=P*Q'  'P:=210-10%0". '0=0'] Il -]

gbooooooooooooboooooo
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syntactical equal D 00000000000 C0CO0O0OMapleDOO0DOOO0OO0OOODOOOO
goooooOooooOoOoOoooOoOoOooooO0OooooO0ooDOooOooboooOoooboooo
goopoooooooogoooo

oo0boooboogbOMapledDOOO solved U 0O OO profitd quantity QU D OO DO OO
gopDOo0o0oboOoOoOdOpPrologDOO00O0OOO0O0OOOOODOOOODOOODOOODDOO
gooooooooood

o ugo

go0d0oooOo00oooo0oOoooOoU0OoDoOoOU0DooUoOooooOoooDoogooo
o0ooo000ooOo00o0oDO0o000o0O0o0oDO000O00O0oDOo000oO0On setOd
JoooboD00Oset0 0000000 Ounknownd OOODOOOOODODODO paramListd OO0
0000000000000 D0ob0o00bD0bO0OU0n0O resultlistD OO O

O set(unknown, paramList, resultList)

il e = e [ s [ e atey EXNSION 205 BE
File Edit Settines Bun Debus  Help
% math8 compiled 0.00 sec, 5,672 bytes ﬁ;

Yes
3 7— listing{rule).

rule{profit, 'Pi', 'Fi:=R-C', [rewvenue., cost]).

rule{revenus, 'R', 'R:=P=Q' [price. guantity]).

rule{revenus, 'R', 'R:=P1l*Q1+F2%*(Q2' [pricel, price?, gquantityl, quantity2])
rule{cost, 'C'., 'C:=AC#*Q', [awerageCost. guantity]).

YTes E;I

4 ?— listing(data).

dataipricel. 'P1', 'P1:=56-4*Q1', [guantityl]).

data{pricez, 'P2', 'P2:=48-2%Q2', [guantity2]).

data{cost, 'C', 'C:=01"2+5%Q1*Q2+02"2', [quantityl, quantity2])
data{quantityl, 'Q1', 'Q1=0Q1', []).

data(quantity2, 'Q2', 'Q2=Q2'. []).

Yes
5 ?— =et{pricel.[quantityl.guantity2].Llist).

List = ['P1:=56-4%01"]

Yes
6 7- set({profit.[quantityl,gquantitvy2].Llist).

List = ['C:=0Q1"2+5#Q1*02+0272"', 'P2:=48-2%02', 'P1:=56-4%0Q1', 'R:=P1=Q1+P2#+Q2', '
Pi:=R-C']

Yes
7 ?— expandi{profit, [guantity,guantity2].Llist).

Ho
g 7-1

=

OD0DR@UOORQI,Q2OO00000
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OOProfitd quantityl 0 0 20 000000000000 20000000000000000
O

set(profit, [quantityl,quantity2], List)
oOo0o0oooOoOooooOooOoDoosoooooooogoo

II=R-C

R=PX Qi+ PX0:
P=56—4X0:, P=48-2X0:
C=0/+ 5X0:0:+ Q;

000d0On@L,Q2 0000000000 200000000set00000O0O 0O profitd
[quantity, quantity2] 0 00 000000000000 O00O0OO0OOOO0O0COOOOOOO0
ooo

ooboobooooboooobOooOoOooOoboOooOoobooOooobOoOoOoOoOOoboOoOoboon
oooooooooooooboooobobooooboboooooboboOoooobOoOooooboOon
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ooooooooo
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Il SWI-Proloe (Multi-threaded, version 5.4.5)
File Edit Settines Bun Debug Help

[>

Yes
4 7- set(totalDemand, [income, interestRate], List).

List = ['I:=41-80%1i"', 'C:=3440.4%Y', 'Yd:=C+I']

Yes

5§ ?- set{moneyDemand, [income, interestRate], List).

List = ['Mt:=0.4%V', 'Mw:=65-124%i', 'Md:=Mw+Mt'] 1
Yes 5

6 ?- set({'HMPC', [consumption, income],List).
List = ['C:=3440.4»Y"', 'b:=diff(C.Y)"']

Yes
7 7- v

gobooooobooooobooooooboooooo

goooo
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%% National Income Determination
data(consumption, "C’, ‘C:=34+0.4*Y’, [income]). ‘
data(investment, T, 'I:=41-80#i’, [interestRate]).

data(interestRate, i’, L.

data(moneySupply, ‘Ms’, ‘Ms=325", [I).

data(spe culativeDemandForMoney, "Mw’, ‘Mw:=65-124%i", [interestRate]). |
data(transaction—pre cautionaryDemandForMoney, ‘"Mt’, "Mt:=0.4%Y’, [income]). ‘
data(income,’Y’, "Y:=Y",[1)

|

%% National Income Determination i
rule(totalDemand, ‘Yd', "Yd:=C+I’, [consumption, investment]). ‘
rule(totalDemand, "Yd', "Yd:=C+I+G’, [cunsumption, investment, govermentExpenditures]).
rule(totalDemand, 'Yd', "Yd:=C+[+G+(X-Z)",
[cunsumption, investment, govermentExpenditures, exports, imports]).
rule(totalSupply, 'Ys’, "Ys:=Y’, [incomel).
ruleCMPC’, ’b’, ’b: d|FKC Y)Y, [consumptlon income]). $%marginal propensity to consumel|
rule(moneyDemand ‘Md’, Md Mw+Mt’,

[specuIativeDemandForMoney, transaction—precautionaryDemandForMoney]).

004 NETSCP  ~| f@ 2 Windows .. ~| [& Microsoft Po.. [ 2 Notepad  ~| -}t SWi-Prolog (. Y A SR

1 91 Bk @ Ca5 7> Internet Explorer

fa Bacon

oobooooboooboooooobooooo

W1 SWI-Proloe Thread 2 (2796) Interactor

File Edit Settines Bun

[1] 1 ?- group{income,Rules). A~
Rules = [totalDemand, totalSupply. savings, 'MPC', 'MPS', disposablelncome, cons
unption, moneyDemand] =
Yes

[1] 2 ?- listing(data).

data(consumption, 'C', 'C:=0.9%Ydis+70', [disposablelncomne]).
data(govermentEzpenditures, 'G', 'G:=20', []).

data{investment, 'I', 'I:=35', []).

data(tax, 'T', 'T:=0.2%V+25', [income]).

data(income, 'Y'. []. [1).

Yes

[1] 3 ?7- set{consumption, [income],List).

List = ['T:=0.2%Y+25', 'Ydis:=Y-T', 'C:=0.9%¥dis+70']

Yes

[1] 4 ?- set(totalDemand, [investment, govermentExpenditures, incone],List).

List = ['G:=20", 'I:=35"', 'T:=0.2%¥+25', '¥dis:=Y-T', 'C:=0.9*¥dis+70', '¥d:=C+I
+G']

Yes v

goooo

ooooooo LG, Yoooooo
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%% Total, Marginal, Average

%% Elasticity

rule(profit, ‘Pi’, ‘Pi:=R-C’, [revenue, cost]).

rulelrevenue, 'R, '"R:=P*Q’, [price,quantity]).

rulelrevenue, 'R, "R:==P1+Q1+P2+Q2’, [pricel ,price?, quantityl ,quantity? ]).
rule(cost, 'C’, 'C:=AC#*Q’, [averageCost, quantity]).

ruleCMC’, "MC’, '"MC:=diff{C,Q), [cost, quantity]). $%marginal cost
ruleC’MR’, "MR’, "MR:=diflR,Q)’, [revenue, quantity]). $%marginal revenue
ruleCMC’", '"MC’, '"MC:=diff{C,Q), [cost, quantity]). ¥%marginal cost
%$%point of elasticity of demand

rulelelasticity, ‘'e’, ‘'e =diflQd,P)*(P/Qd) [quantityDemanded,price]).

datalquantityDemanded, ‘Qd’, "Qd:=650-5+%P—-P"2" [price]).
datalprice, ‘P, '"P:=F", []).

data(quantity, ‘Q", 'Q:=Q’, [}

datalpricel, "P1°, 'P1:=56—4%Q1", [quantityl ).

datalprice?, 'P2’, 'P2:=48-2%Q2’, [quantity?]).

datalcost, "C’, 'C:=Q172+b*Q1+#Q2+Q2"2", [quantityl ,quantity2 ]).
datalquantityl, 'Q1°, "Q1:=Q1", []).

datalquantity?, ‘'Q2°, 'Q2:=Q2", [ ).

Notepad -L} ST

" Internet Explorer

gboooooboooooooooooooooooo
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1 SWI-Proloe (Multi-threaded, version 5.4.5)

File Edit Settines Run Debue Help

7 ?7- listing{data). ~
data({cost, 'TC', 'TC:=Q"3+5%Q"2+60%Q', [quantity]).
data(quantity, 'Q', []. [1).

Yes

8 ?7- set{averageCost, [gquantity].List). -
List = ['TC:=Q"3+5%Q"2+60%Q"', 'AC:=C*Q'] :

oooooooooooooo

F] Maple 9.5 — Untitled ) - [Server 21 g@

7E REE FTW HAQ F4-IvbR V-D OAVEOWM) ANFH

DBBSE XBER S¢ TP EE &2 O%> (& & B
R,@lc Maple Input vHMSﬂE§ﬁ vlm I U &8 @ E = = m 1
#3t W[> eqs:={TC=Q"3-5%Q"2+60%Q, AC=TC/Q}; ]
vy eas::{Ac:E’, 16=0° -5 ¢° + 60 o}
1351 q
A8 > sols:=solve{eqs);
- sols 1= {AC=Q"-50+60, TC= (¢ -50+60) 0 0= @
Jr L j> assign{sols); =
Es e [> derivi:=diff {AC,Q);
s | derivi :=2 ¢-5
e > solve{derivl=0, Q);
ath a-b 5_
L 2
a*b aflb L i B |
> subs{(Q=5/2, AC) ;
@b a=b &
5 4 v
2= & 3
| 5 [ 0.455 [x=0: 03

o000 MapleDODOOOOOODODO
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00000000000 set(averageCost, [quantity],Listy DO OODACO QUODDODODOODO
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1 SWI-Proloe (Multi-threaded, version 5.4.5)
File Edit Settines Bun Debug Help
9 ?7- set{elasticity, [quantityDemnanded, price].Llist).

A

List = ['Qd:=650-5*%P-P"2"', 'e:=diff(Qd.P)*(P/Qd)"']

Yes =

10 -1 S
v

gbooooboooooobooooooo

gboboboobobooouoboboobobOoi0nO set(elasticity,.)UOoooooan

ooosg2000000 100000000000 00ooo20000000000000
ooo

gobooobooooobooooon

1 SWI-Prolog (Multi-threaded. version 5.4.5)

File Edit Settines Run Debug Help

Yes A
16 ?- listing{data). -

data(equilibriumIncome, 'Y', 'V:=C+I0+G0+X0-Z', [consumption, import]).

data(tax, 'T', 'T:=T0+t*¥', [incone]).

data(consumnption, 'C', 'C:=C0+b*¥Ydis', [disposablelncone]).

data(import, 'Z', 'Z:=Z0+z*¥Ydis', [disposablelncome]).

data(income, 'Y', []. []).

data{autonomousG, 'G0', []. [1).

Yes

17 ?- set{equilibriumIncomne, [income],Ll).

L = ['Z:=Z04z*Ydis', 'T:=TO0+t*Y¥', 'Ydis:=Y-T', 'C:=CO+b*¥dis', '¥:=C+I0+G0+X0-Z']

Yes

18 ?- set{govermentMultiplier, [income, autonomousG],L).

L = ['Z:=Z0+z*Vdis', 'T:=TO0+t*Y¥' K 'Ydis:=Y-T', 'C:=CO0+b*¥dis', 'Y:=C+I0+GO0+X0-Z',k =
'd¥dG:=diff{¥*,G0)"]

Yes

19 ?- ! N

goboOooooOooooooboooOoooa
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1 SWI-Prolog Thread 2 (3264) Interactor M[=E3
File Edit Settines Bun
SWI-Prolog console for thread 2

| D |

1 ?- listing(data).

data{quantityDemandedl, 'Qdl', 'Qdl1:=4850-5%P1+1.5%P2+0.1%Y', [pricel, pr
ice2, incomel]).

data(income, 'Y', 'Y:=10000', []).

data(pricel, 'P1', 'P1:=200', []).

data{price2, 'P2', 'P2:=100', [])

Yes
2 ?7- set(cross-elasticityOfDemand, [income, pricel, price2],list).

List = [ ¥:=10000 'P2:=100", 'P1:=200", 'Qdl:=4850-5%P1+1.5%P2+0. 1*Y",
'E12:=diff (Qd1l, P2)*(P2/Od1) 1

Yes

3 7-1
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%% Optimization
%% Total, Average, Marginal
U rule(profit, 'Pi', Pi:=R-C', [revenue, cost]).
O rule(revenue, 'R', 'R:=P*Q', [price, quantity]).
U rule(revenue, 'R', 'R:=P1*Q1+P2*Q2', [pricel, price2, quantity 1, quantity2]).
U rule(cost, 'C', 'C:=AC*Q', [averageCost, quantity]).
O rule('MC', 'MC', 'MC:=diff(C,Q)', [cost, quantity]).
U rule(MR', MR', 'MR:=diff(R,Q)', [revenue, quantity]).
U rule('MC', 'MC', 'MC:=diff(C,Q)', [cost, quantity]).
O rule('MPK', 'MPK', 'MPk:=diff(Q,K)', [quantity, capital]).
U rule(MPPK', 'MPPK', 'MPPk:=diff(Q,K)', [quantity, capital]).
U rule('MPI', 'MPI', ' MPL:=diff(Q,L)', [quantity, labor]).
O rule('MPPI', 'MPPI', 'MPP1:=diff(Q,L)', [quantity, labor]).
O rule('MRP', 'MRP', ' MRP:=MR*MP', [[MR', 'MP']).
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0O rule(MRTS', ' MRTS', MRTS:=diff(K,L)", [capital, labor]).
%% Elasticity

O rule(price-elasticityOfDemand, 'Ep', 'Ep:=diff(Qd,P)*(P/Qd)', [quantityDemanded, price]).

U rule(price-elasticityOfSupply, 'Es', 'Es:=diff(Qs,P)*(P/Qs)', [quantitySupplied, price]).

U rule(income-elasticityOfDemand, 'Ey', 'Ey:=diff(Qd,Y)*(Y/Qd)', [income, quantityDemanded]).

0 rule(cross-elasticityOfDemand, 'E12', 'E12:=diff(Qd1,P2)*(P2/Qd1)', [quantityDemanded1, price2]).

9% % National Income Determination

U rule(totalDemand, 'Yd', 'Yd:=C+I', [consumption, investment]).

O rule(totalDemand, 'Yd', 'Yd:=C+I+G', [consumption, investment, govermentExpenditures]).

0 rule(totalDemand, 'Yd', 'Yd:=C+I+G+(X-Z)', [consumption, investment, govermentExpenditures, ex-
ports, imports]).

O rule(govermentMultiplier, 'dYdG', 'dYdG:=diff(Y*,GO0)', [equilibriumIncome, autonomousG]).

0 rule(importMultiplier, 'dYdZ', 'dYdZ:=diff(Y*,Z0)", [equilibriumIncome, autonomousZ]).

0 rule(exportMultiplier, 'dYdX', 'dYdX:=diff(Y*,X0)', [equilibriumIncome, autonomousX]J).

0 rule(taxationMultiplier, 'dYdT', 'dYdT:=diff(Y*,T0)', [equilibriumIncome, autonomousT]).

0 rule(totalSupply, 'Ys', 'Ys:=Y', [income]).

U rule(savings, 'S', 'S:=Y-C', [income, consumption]).

0 rule(‘MPC', 'b', 'b:=diff(C,Y)', [consumption, income]).

O rule('APC', 'APC', 'APC:=C/Y", [consumption, income]).

U rule('MPS', 'a', 'a:=diff(S,Y)', [savings, income]).

O rule('APS', 'APS', 'APS:=S/Y", [savings, income]).

0 rule('MPS', 'a', 'a:=1-b', [MPC']).

U rule(disposablelncome, 'Ydis', 'Ydis:=Y-T', [income, tax]).

0 rule(consumption, 'C', 'C:=a*Y+b', [autonomousConsumption, 'MPC', income]).

0 rule(consumption, 'C', 'C:=a*Ydis+b', [autonomousConsumption, 'MPC', disposableIncome]).

U rule(moneyDemand, 'Md', 'Md:=Mw+Mt', [speculativeDemandForMoney, transaction-precautionary-

DemandForMoney]).
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